



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## B.S (Computer Science) 5th Semester, Section B, Morning, Session Autumn 2025

Registration #	Name	CSC 210-7					CSC 311-5					CSC 401					CSC 402					CSC 501					CSC.305				
		Linear Algebra					Web Programming					Data Structures & Algorithms					Information Security					Computer Communication & Networks					Introduction to Software Engineering				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS Aut-2022-M-B-0090	M. Muhammad Junaid Ur Rehman	-	-	-	-	73	B	3.0	3	9.0	74	B	3.0	4	12.0	59	C	2.0	3	6.0	-	-	-	-	77	B+	3.5	3	10.5		
B.S CS Aut-2022-M-B-0093	Muhammad Abdullah	-	-	-	-	77	B+	3.5	3	10.5	-	-	-	-	-	61	C	2.0	3	6.0	-	-	-	-	77	B+	3.5	3	10.5		
B.S CS Aut-2022-M-B-0098	Muhammad Attar Raza	-	-	-	-	78	B+	3.5	3	10.5	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	80	A	4.0	3	12.0		
B.S CS Aut-2022-M-B-0115	Tehreem Zainab Naqvi	-	-	-	-	-	F	-	3	-	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	87	A	4.0	3	12.0		
B.S CS Aut-2023-E-A-0237	Sana Asghar	-	-	-	-	83	A	4.0	3	12.0	-	-	-	-	-	69	C+	2.5	3	7.5	-	-	-	-	80	A	4.0	3	12.0		
B.S CS Aut-2023-E-B-0287	Sawera Gulzaib	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	51	D	1.5	3	4.5	-	-	-	-	86	A	4.0	3	12.0		
B.S CS Aut-2023-M-B-0071	Abdul Haseeb	-	-	-	-	81	A	4.0	3	12.0	-	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	83	A	4.0	3	12.0		
B.S CS Aut-2023-M-B-0072	Abdul Raheem	60	C	2.0	3	6.0	77	B+	3.5	3	10.5	-	-	-	-	-	68	C+	2.5	3	7.5	-	-	-	-	85	A	4.0	3	12.0	
B.S CS Aut-2023-M-B-0073	Abdul Rehman	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	56	C	2.0	3	6.0	-	-	-	-	78	B+	3.5	3	10.5		
B.S CS Aut-2023-M-B-0074	Abdul Wasay	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	72	B	3.0	3	9.0		
B.S CS Aut-2023-M-B-0075	Abdullah Hasan	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	73	B	3.0	3	9.0		
B.S CS Aut-2023-M-B-0076	Ahmad	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	75	B+	3.5	3	10.5		
B.S CS Aut-2023-M-B-0077	Ahmed Ali Abbas	55	C	2.0	3	6.0	85	A	4.0	3	12.0	-	-	-	-	-	63	C	2.0	3	6.0	-	-	-	-	83	A	4.0	3	12.0	
B.S CS Aut-2023-M-B-0078	Ali Arshad	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-	-	56	C	2.0	3	6.0	-	-	-	-	76	B+	3.5	3	10.5		
B.S CS Aut-2023-M-B-0079	Alishba Phool (Withheld due to Fee	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-B-0080	Amna Bibi	-	-	-	-	83	A	4.0	3	12.0	-	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	90	A	4.0	3	12.0		
B.S CS Aut-2023-M-B-0081	Asad Latif	-	-	-	-	87	A	4.0	3	12.0	-	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	81	A	4.0	3	12.0		
B.S CS Aut-2023-M-B-0082	Basit Ali	58	C	2.0	3	6.0	80	A	4.0	3	12.0	-	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	80	A	4.0	3	12.0	
B.S CS Aut-2023-M-B-0083	Bilal Hassan	-	-	-	-	97	A	4.0	3	12.0	-	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	93	A	4.0	3	12.0		
B.S CS Aut-2023-M-B-0084	Danial	-	-	-	-	81	A	4.0	3	12.0	-	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	75	B+	3.5	3	10.5		
B.S CS Aut-2023-M-B-0085	Dua Zafar	-	-	-	-	87	A	4.0	3	12.0	-	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-	82	A	4.0	3	12.0		
B.S CS Aut-2023-M-B-0086	Imran Nazir	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-	78	B+	3.5	3	10.5		
B.S CS Aut-2023-M-B-0087	Jawad Ahmed Qureshi	-	-	-	-	81	A	4.0	3	12.0	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	81	A	4.0	3	12.0		
B.S CS Aut-2023-M-B-0088	Kamran Ali Haider	-	-	-	-	85	A	4.0	3	12.0	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	81	A	4.0	3	12.0		
B.S CS Aut-2023-M-B-0089	Kashmala Rabi	-	-	-	-	93	A	4.0	3	12.0	-	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	85	A	4.0	3	12.0		
B.S CS Aut-2023-M-B-0090	Khadija Noureen	-	-	-	-	86	A	4.0	3	12.0	-	-	-	-	-	61	C	2.0	3	6.0	-	-	-	-	86	A	4.0	3	12.0		
B.S CS Aut-2023-M-B-0091	Kiran Zafar	-	-	-	-	89	A	4.0	3	12.0	-	-	-	-	-	61	C	2.0	3	6.0	-	-	-	-	77	B+	3.5	3	10.5		
B.S CS Aut-2023-M-B-0094	Misbah Nazar	-	-	-	-	67	C+	2.5	3	7.5	-	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	78	B+	3.5	3	10.5		
B.S CS Aut-2023-M-B-0095	Mubashar Khan Jadoon	-	-	-	-	82	A	4.0	3	12.0	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	80	A	4.0	3	12.0		

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

**Ghayyas ud Din**  
Controller of Exams

Result declaration date: 23/02/2026



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## B.S (Computer Science) 5th Semester, Section B, Morning, Session Autumn 2025

		CSC311-7					CSC404					CSC-501					CSS301					SSC303				
		Computer Architecture					Visual Programming					Computer Communication & Networks					Multi-Variate Calculus					Operating Systems				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS Aut-2022-M-B-0090	M. Muhammad Junaid Ur Rehman	60	C	2.0	3	6.0	-	-	-	-	81	A	4.0	3	12.0	65	C+	2.5	3	7.5	-	-	-	-		
B.S CS Aut-2022-M-B-0093	Muhammad Abdullah	70	B	3.0	3	9.0	-	-	-	-	66	C+	2.5	3	7.5	50	D	1.5	3	4.5	-	-	-	-		
B.S CS Aut-2022-M-B-0098	Muhammad Attar Raza	71	B	3.0	3	9.0	-	-	-	-	59	C	2.0	3	6.0	50	D	1.5	3	4.5	-	-	-	-		
B.S CS Aut-2022-M-B-0115	Tehreem Zainab Naqvi	75	B+	3.5	3	10.5	-	-	-	-	74	B	3.0	3	9.0	54	D	1.5	3	4.5	-	-	-	-		
B.S CS Aut-2023-E-A-0237	Sana Asghar	75	B+	3.5	3	10.5	-	-	-	-	62	C	2.0	3	6.0	50	D	1.5	3	4.5	-	-	-	-		
B.S CS Aut-2023-E-B-0287	Sawera Gulzaib	58	C	2.0	3	6.0	-	-	-	-	62	C	2.0	3	6.0	55	C	2.0	3	6.0	-	-	-	-		
B.S CS Aut-2023-M-B-0071	Abdul Haseeb	75	B+	3.5	3	10.5	-	-	-	-	63	C	2.0	3	6.0	50	D	1.5	3	4.5	-	-	-	-		
B.S CS Aut-2023-M-B-0072	Abdul Raheem	75	B+	3.5	3	10.5	-	-	-	-	61	C	2.0	3	6.0	35	F	-	3	-	-	-	-	-		
B.S CS Aut-2023-M-B-0073	Abdul Rehman	70	B	3.0	3	9.0	-	-	-	-	63	C	2.0	3	6.0	19	F	-	3	-	-	-	-	-		
B.S CS Aut-2023-M-B-0074	Abdul Wasay	85	A	4.0	3	12.0	-	-	-	-	75	B+	3.5	3	10.5	25	F	-	3	-	-	-	-	-		
B.S CS Aut-2023-M-B-0075	Abdullah Hasan	65	C+	2.5	3	7.5	-	-	-	-	67	C+	2.5	3	7.5	50	D	1.5	3	4.5	-	-	-	-		
B.S CS Aut-2023-M-B-0076	Ahmad	75	B+	3.5	3	10.5	-	-	-	-	70	B	3.0	3	9.0	27	F	-	3	-	-	-	-	-		
B.S CS Aut-2023-M-B-0077	Ahmed Ali Abbas	63	C	2.0	3	6.0	-	-	-	-	60	C	2.0	3	6.0	28	F	-	3	-	-	-	-	-		
B.S CS Aut-2023-M-B-0078	Ali Arshad	65	C+	2.5	3	7.5	66	C+	2.5	3	7.5	56	C	2.0	3	6.0	50	D	1.5	3	4.5	-	-	-	-	
B.S CS Aut-2023-M-B-0079	Alishba Phool (Withheld due to Fee)						-	-	-	-											-	-	-	-		
B.S CS Aut-2023-M-B-0080	Amna Bibi	76	B+	3.5	3	10.5	-	-	-	-	65	C+	2.5	3	7.5	21	F	-	3	-	-	-	-	-		
B.S CS Aut-2023-M-B-0081	Asad Latif	84	A	4.0	3	12.0	-	-	-	-	70	B	3.0	3	9.0	51	D	1.5	3	4.5	-	-	-	-		
B.S CS Aut-2023-M-B-0082	Basit Ali	81	A	4.0	3	12.0	-	-	-	-	65	C+	2.5	3	7.5	30	F	-	3	-	-	-	-	-		
B.S CS Aut-2023-M-B-0083	Bilal Hassan	86	A	4.0	3	12.0	-	-	-	-	75	B+	3.5	3	10.5	65	C+	2.5	3	7.5	-	-	-	-		
B.S CS Aut-2023-M-B-0084	Danial	76	B+	3.5	3	10.5	-	-	-	-	75	B+	3.5	3	10.5	50	D	1.5	3	4.5	-	-	-	-		
B.S CS Aut-2023-M-B-0085	Dua Zafar	81	A	4.0	3	12.0	-	-	-	-	70	B	3.0	3	9.0	35	F	-	3	-	-	-	-	-		
B.S CS Aut-2023-M-B-0086	Imran Nazir	75	B+	3.5	3	10.5	-	-	-	-	60	C	2.0	3	6.0	50	D	1.5	3	4.5	-	-	-	-		
B.S CS Aut-2023-M-B-0087	Jawad Ahmed Qureshi	83	A	4.0	3	12.0	-	-	-	-	67	C+	2.5	3	7.5	50	D	1.5	3	4.5	-	-	-	-		
B.S CS Aut-2023-M-B-0088	Kamran Ali Haider	70	B	3.0	3	9.0	-	-	-	-	70	B	3.0	3	9.0	33	F	-	3	-	-	-	-	-		
B.S CS Aut-2023-M-B-0089	Kashmala Rabi	81	A	4.0	3	12.0	-	-	-	-	75	B+	3.5	3	10.5	75	B+	3.5	3	10.5	-	-	-	-		
B.S CS Aut-2023-M-B-0090	Khadija Noureen	80	A	4.0	3	12.0	-	-	-	-	71	B	3.0	3	9.0	50	D	1.5	3	4.5	-	-	-	-		
B.S CS Aut-2023-M-B-0091	Kiran Zafar	75	B+	3.5	3	10.5	-	-	-	-	59	C	2.0	3	6.0	55	C	2.0	3	6.0	-	-	-	-		
B.S CS Aut-2023-M-B-0094	Misbah Nazar	70	B	3.0	3	9.0	-	-	-	-	66	C+	2.5	3	7.5	22	F	-	3	-	-	-	-	-		
B.S CS Aut-2023-M-B-0095	Mubashar Khan Jadoon	71	B	3.0	3	9.0	-	-	-	-	75	B+	3.5	3	10.5	50	D	1.5	3	4.5	-	-	-	-		

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

**Ghayyas ud Din**  
Controller of Exams

Result declaration date: 23/02/2026



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## B.S (Computer Science) 5th Semester, Section B, Morning, Session Autumn 2025

Registration #	Name	CSC 210-7					CSC 311-5					CSC 401					CSC 402					CSC 501					CSC.305				
		Linear Algebra					Web Programming					Data Structures & Algorithms					Information Security					Computer Communication & Networks					Introduction to Software Engineering				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS Aut-2023-M-B-0096	Mubin Bilal	-	-	-	-	91	A	4.0	3	12.0	-	-	-	-	-	73	B	3.0	3	9.0	-	-	-	-	-	88	A	4.0	3	12.0	
B.S CS Aut-2023-M-B-0098	Muhammad Aimal Khan	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	57	C	2.0	3	6.0	-	-	-	-	-	75	B+	3.5	3	10.5	
B.S CS Aut-2023-M-B-0099	Muhammad Ali	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	-	61	C	2.0	3	6.0	-	-	-	-	-	82	A	4.0	3	12.0	
B.S CS Aut-2023-M-B-0101	Muhammad Anees Younas	-	-	-	-	77	B+	3.5	3	10.5	-	-	-	-	-	57	C	2.0	3	6.0	-	-	-	-	-	78	B+	3.5	3	10.5	
B.S CS Aut-2023-M-B-0102	Muhammad Arslan Tariq	-	-	-	-	72	B	3.0	3	9.0	-	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	-	76	B+	3.5	3	10.5	
B.S CS Aut-2023-M-B-0103	Muhammad Hassaan	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	-	82	A	4.0	3	12.0	
B.S CS Aut-2023-M-B-0104	Muhammad Junaid Hassan Jadoon	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	83	A	4.0	3	12.0	
B.S CS Aut-2023-M-B-0107	Muhammad Safwan	-	-	-	-	85	A	4.0	3	12.0	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	72	B	3.0	3	9.0	
B.S CS Aut-2023-M-B-0109	Muhammad Usman	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	-	56	C	2.0	3	6.0	-	-	-	-	-	73	B	3.0	3	9.0	
B.S CS Aut-2023-M-B-0112	Nitasha Shakeel Abbasi	-	-	-	-	90	A	4.0	3	12.0	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	87	A	4.0	3	12.0	
B.S CS Aut-2023-M-B-0113	Sadia Gul	-	-	-	-	91	A	4.0	3	12.0	-	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	-	93	A	4.0	3	12.0	
B.S CS Aut-2023-M-B-0116	Tehzeeb Ahmed	-	-	-	-	95	A	4.0	3	12.0	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	96	A	4.0	3	12.0	
B.S CS Aut-2023-M-B-0118	Usama Hashmi	55	C	2.0	3	6.0	83	A	4.0	3	12.0	-	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	79	B+	3.5	3	10.5
B.S CS Aut-2023-M-B-0119	Yahya Iqbal	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	80	A	4.0	3	12.0	
B.S CS Aut-2023-M-B-0120	Yumna Azhar	-	-	-	-	91	A	4.0	3	12.0	-	-	-	-	-	72	B	3.0	3	9.0	-	-	-	-	-	81	A	4.0	3	12.0	
B.S CS Aut-2023-M-B-0121	Zoya Safeer	-	-	-	-	92	A	4.0	3	12.0	-	-	-	-	-	81	A	4.0	3	12.0	-	-	-	-	-	88	A	4.0	3	12.0	
B.S CS SP-2022-M-B-0089	Muhammad Wali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	43	F	-	4	-	-	-	-	-	-	
B.S CS SP-2023-M-B-0088	Muhammad Haseeb Jamshaid	-	-	-	-	62	C	2.0	3	6.0	-	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	50	D	1.5	3	4.5	
B.S CS SP-2023-M-B-0096	Naghma Bibi	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	55	C	2.0	3	6.0	
B.S CS SP-2023-M-B-0100	Saman Gul	-	-	-	-	-	-	-	-	-	58	C	2.0	4	8.0	-	-	-	-	-	-	-	-	-	-	93	A	4.0	3	12.0	
B.S CS SP-2023-M-C-0142	Arsian Karim	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	42	F	-	3	-	-	-	-	-	77	B+	3.5	3	10.5		
B.S CS SP-2023-M-C-0171	Syed Moazzam Maqsood	-	F	-	3	-	72	B	3.0	3	9.0	-	-	-	-	58	C	2.0	3	6.0	-	-	-	-	-	50	D	1.5	3	4.5	
B.S CS SP-2023-M-C-0175	Syed Waqas Anjum	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	58	C	2.0	3	6.0	
RIF22UBSCS065	Muqaddas Shakeel (8 Deficiency C	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

**Ghayyas ud Din**  
Controller of Exams

Result declaration date: 23/02/2026



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## B.S (Computer Science) 5th Semester, Section B, Morning, Session Autumn 2025

		CSC311-7					CSC404					CSC-501					CSS301					SSC303				
		Computer Architecture					Visual Programming					Computer Communication & Networks					Multi-Variate Calculus					Operating Systems				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS Aut-2023-M-B-0096	Mubin Bilal	81	A	4.0	3	12.0	-	-	-	-	-	71	B	3.0	3	9.0	65	C+	2.5	3	7.5	-	-	-	-	-
B.S CS Aut-2023-M-B-0098	Muhammad Aimal Khan	70	B	3.0	3	9.0	-	-	-	-	-	65	C+	2.5	3	7.5	16	F	-	3	-	-	-	-	-	-
B.S CS Aut-2023-M-B-0099	Muhammad Ali	65	C+	2.5	3	7.5	-	-	-	-	-	56	C	2.0	3	6.0	36	F	-	3	-	-	-	-	-	-
B.S CS Aut-2023-M-B-0101	Muhammad Anees Younas	70	B	3.0	3	9.0	-	-	-	-	-	61	C	2.0	3	6.0	55	C	2.0	3	6.0	-	-	-	-	-
B.S CS Aut-2023-M-B-0102	Muhammad Arslan Tariq	65	C+	2.5	3	7.5	-	-	-	-	-	61	C	2.0	3	6.0	23	F	-	3	-	-	-	-	-	-
B.S CS Aut-2023-M-B-0103	Muhammad Hassaan	81	A	4.0	3	12.0	-	-	-	-	-	71	B	3.0	3	9.0	36	F	-	3	-	-	-	-	-	-
B.S CS Aut-2023-M-B-0104	Muhammad Junaid Hassan Jadoon	70	B	3.0	3	9.0	-	-	-	-	-	70	B	3.0	3	9.0	55	C	2.0	3	6.0	-	-	-	-	-
B.S CS Aut-2023-M-B-0107	Muhammad Safwan	81	A	4.0	3	12.0	-	-	-	-	-	72	B	3.0	3	9.0	70	B	3.0	3	9.0	-	-	-	-	-
B.S CS Aut-2023-M-B-0109	Muhammad Usman	60	C	2.0	3	6.0	-	-	-	-	-	61	C	2.0	3	6.0	31	F	-	3	-	-	-	-	-	-
B.S CS Aut-2023-M-B-0112	Nitasha Shakeel Abbasi	80	A	4.0	3	12.0	-	-	-	-	-	67	C+	2.5	3	7.5	62	C	2.0	3	6.0	-	-	-	-	-
B.S CS Aut-2023-M-B-0113	Sadia Gul	84	A	4.0	3	12.0	-	-	-	-	-	67	C+	2.5	3	7.5	94	A	4.0	3	12.0	-	-	-	-	-
B.S CS Aut-2023-M-B-0116	Tehzeeb Ahmed	82	A	4.0	3	12.0	-	-	-	-	-	83	A	4.0	3	12.0	75	B+	3.5	3	10.5	-	-	-	-	-
B.S CS Aut-2023-M-B-0118	Usama Hashmi	72	B	3.0	3	9.0	-	-	-	-	-	60	C	2.0	3	6.0	20	F	-	3	-	-	-	-	-	-
B.S CS Aut-2023-M-B-0119	Yahya Iqbal	75	B+	3.5	3	10.5	-	-	-	-	-	58	C	2.0	3	6.0	38	F	-	3	-	-	-	-	-	-
B.S CS Aut-2023-M-B-0120	Yumna Azhar	81	A	4.0	3	12.0	-	-	-	-	-	75	B+	3.5	3	10.5	76	B+	3.5	3	10.5	-	-	-	-	-
B.S CS Aut-2023-M-B-0121	Zoya Safeer	81	A	4.0	3	12.0	-	-	-	-	-	75	B+	3.5	3	10.5	70	B	3.0	3	9.0	-	-	-	-	-
B.S CS SP-2022-M-B-0089	Muhammad Wali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	59	C	2.0	4	8.0	
B.S CS SP-2023-M-B-0088	Muhammad Haseeb Jamshaid	77	B+	3.5	3	10.5	-	-	-	-	-	52	D	1.5	3	4.5	86	A	4.0	3	12.0	-	-	-	-	-
B.S CS SP-2023-M-B-0096	Naghma Bibi	75	B+	3.5	3	10.5	-	-	-	-	-	71	B	3.0	3	9.0	56	C	2.0	3	6.0	-	-	-	-	-
B.S CS SP-2023-M-B-0100	Saman Gul	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	80	A	4.0	4	16.0	
B.S CS SP-2023-M-C-0142	Arslan Karim	60	C	2.0	3	6.0	-	-	-	-	-	55	C	2.0	3	6.0	15	F	-	3	-	-	-	-	-	-
B.S CS SP-2023-M-C-0171	Syed Moazzam Maqsood	65	C+	2.5	3	7.5	-	-	-	-	-	71	B	3.0	3	9.0	62	C	2.0	3	6.0	-	-	-	-	-
B.S CS SP-2023-M-C-0175	Syed Waqas Anjum	79	B+	3.5	3	10.5	-	-	-	-	-	75	B+	3.5	3	10.5	86	A	4.0	3	12.0	-	-	-	-	-
RIF22UBSCS065	Muqaddas Shakeel (8 Deficiency C	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

**Ghayyas ud Din**  
Controller of Exams

Result declaration date: 23/02/2026